# A VISCOSITY APPROXIMATION METHOD OF COMMON SOLUTIONS FOR QUASI VARIATIONAL INCLUSION AND FIXED POINT PROBLEMS 

NARIN PETROT ${ }^{*, 1}$, RABIAN WANGKEEREE* AND POOM KUMAM ${ }^{* *, * * *, 1}$<br>*Department of Mathematics, Faculty of Science, Naresuan University Phitsanulok 65000, Thailand.<br>** Department of Mathematics, Faculty of Science King Mongkut's University of Technology Thonburi (KMUTT) Bangmod, Thrungkru, Bangkok 10140, Thailand.<br>*** Centre of Excellence in Mathematics, CHE<br>Si Ayuthaya Rd., Bangkok 10400, Thailand. E-mail: poom.kum@kmutt.ac.th


#### Abstract

In this paper, we introduce a new iterative scheme for finding solutions the common element of the set of fixed points of a nonexpansive mapping and the set of solutions of the variational inclusion problem with a multivalued maximal monotone mapping and an $\alpha$-inverse-strongly monotone mapping. We show that the sequence converges strongly to a common solutions for quasi variational inclusion and fixed point problems under some parameters controlling conditions. This main theorem extends a recent result of Zhang et al. [Algorithms of common solutions to quasi variational inclusion and fixed point problems. Appl. Math. Mech. Engl. Ed., 2008, 29(5)(2006), 571-581.] and some other authors. Key Words and Phrases: Nonexpansive mapping, variational inequality, variational inclusion, fixed point, $\alpha$-inverse-strongly monotone mapping, strictly pseudocontractive mapping. 2010 Mathematics Subject Classification: 47H05, 47J05, 47J25, 47H10.


## 1. Introduction

Let $H$ be a real Hilbert space with norm $\|\cdot\|$ and inner product $\langle\cdot, \cdot\rangle$. Let $A: H \rightarrow H$ be a single-valued nonlinear mapping and $M: H \rightarrow 2^{H}$ be a multi-valued mapping. We are interested to the problem so-called quasi-variational inclusion problem, that is, determine an element $u \in H$ such that

$$
\begin{equation*}
0 \in A(u)+M(u) . \tag{1.1}
\end{equation*}
$$

The set of solutions of the problem (1.1) is denoted by $V I(H, A, M)$.
Examples of the variational inclusion (1.1):

[^0](I) If $M=\partial \varphi$, where $\partial \varphi$ denotes the subdifferential of a proper, convex and lower semi-continuous functional $\varphi: H \rightarrow(-\infty,+\infty]$, then problem (1.1) reduces to the following problem: find $u \in H$ such that
\[

$$
\begin{equation*}
\langle A(u), v-u\rangle+\varphi(v)-\varphi(u) \geq 0, \forall v \in H \tag{1.2}
\end{equation*}
$$

\]

which is called a nonlinear variational inequality and has been studied by many authors.
(II) If $M=\partial \delta_{C}$, where $C$ is a nonempty closed convex subset of $H$, and $\delta_{C}$ : $H \rightarrow[0, \infty]$ is the indicator function of C , i.e.,

$$
\delta_{C}(x)=\left\{\begin{array}{l}
0, x \in C  \tag{1.3}\\
+\infty, x \notin C
\end{array}\right.
$$

Then the variational inclusion problem (1.1) is equivalent (see [32]) to find $u \in C$ such that

$$
\begin{equation*}
\langle A(u), v-u\rangle \geq 0, \forall v \in C \tag{1.4}
\end{equation*}
$$

This problem is called Hartman-Stampacchia variational inequality problem (or the classical variational inequality) denoted by $V I(C, A)$.
Inspired by their wide applications, many researchers have studied the classical variational inequality and generalized it in various directions. Many computational methods for solving variational inequalities have been proposed in Hilbert spaces, see $[1,4,8]$ and $[18]$ and the references therein. In fact, it is worth noting that, the variational inequalities problems are among the most interesting and important mathematical problems and have been studied intensively in the past years since they have wide applications in mechanics, physics, optimization and control, nonlinear programming, economics and transportation equilibrium, and engineering sciences, etc. Meanwhile, the variational inclusions problems have been generalized and extended in different directions using the novel and innovative techniques. Various kinds of iterative algorithms to solve the variational inequalities and variational inclusions have been developed by many authors, see $[8,5,10,11,12,13,15,16,17,27,28,30]$ and [32] and the references therein.

In 1976, Korpelevich [14] introduced the following so-called extragradient method: Let $C$ be a closed convex subset of $\mathbb{R}^{N}$,

$$
\left\{\begin{array}{l}
x_{0}=x \in C,  \tag{1.5}\\
\bar{x}_{n}=P_{C}\left(x_{n}-\lambda A x_{n}\right), \\
x_{n+1}=P_{C}\left(x_{n}-\lambda A \bar{x}_{n}\right)
\end{array}\right.
$$

for all $n \geq 0$, where $A$ is a monotone and $k$-Lipschitz continuous mapping of $C$ in to $\mathbb{R}^{N}$. He showed that if $V I(C, A)$ is nonempty then, under some suitable conditions, the sequences $\left\{x_{n}\right\}$ and $\left\{\bar{x}_{n}\right\}$, generated by (1.5), converge to the same point $z \in V I(C, A)$.

Related to the variational inequalities problems, we also have the problems of finding the fixed points of the nonlinear mappings, which is the subject of current interest in functional analysis. It is natural to construct a unified approach for these problems. In this direction, several authors have introduced some iterative schemes
for finding a common element of the set of solutions of the equilibrium problems and the set of fixed points of nonlinear mappings. In 2003, Takahashi and Toyoda [26] introduced the following iterative scheme:

$$
\begin{equation*}
x_{n+1}=\alpha_{n} x_{n}+\left(1-\alpha_{n}\right) S P_{C}\left(x_{n}-\lambda_{n} A x_{n}\right) \tag{1.6}
\end{equation*}
$$

for every $n=0,1,2, \ldots$, where $x_{0}=x \in C, \alpha_{n}$ is a sequence in $(0,1)$, and $\lambda_{n}$ is a sequence in $(0,2 \alpha)$. They proved that if $F(S) \cap V I(C, A) \neq \emptyset$, where $F(S)$ is denoted for the set of fixed points of $S$, then the sequence $\left\{x_{n}\right\}$ generated by (1.6) converges weakly to some $z \in F(S) \cap V I(C, A)$. Moreover, in 2006, Yao and Yao [31] introduced the following iterative scheme:

$$
\left\{\begin{array}{l}
y_{n}=P_{C}\left(x_{n}-\lambda_{n} A x_{n}\right)  \tag{1.7}\\
x_{n+1}=\alpha_{n} u+\beta_{n} x_{n}+\gamma_{n} S P_{C}\left(y_{n}-\lambda_{n} A y_{n}\right)
\end{array}\right.
$$

where $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\},\left\{\gamma_{n}\right\}$ are three sequences in $[0,1]$ and $\left\{\lambda_{n}\right\}$ is a sequence in $[0,2 \alpha]$. They proved that, under some suitable control conditions, the sequence $\left\{x_{n}\right\}$ defined by (1.7) converges strongly to common element of the set of fixed points of a nonexpansive mapping and the set of solutions of the variational inequality for $\alpha$ -inverse-strongly monotone mappings under some parameters controlling conditions. Recently, in 2008, Zhang Shi-sheng et al. [32], introduced the following iterative scheme:

$$
\begin{equation*}
x_{n+1}=\alpha_{n} x+\left(1-\alpha_{n}\right) S J_{M}^{\lambda}\left(x_{n}-\lambda A x_{n}\right) \tag{1.8}
\end{equation*}
$$

for every $n=0,1,2, \ldots$, where $J_{M}^{\lambda}$ the resolvent operator associated with $M$ and $M$ is maximal monotone and $x_{0}=x \in H,\left\{\alpha_{n}\right\}$ is a sequence in $(0,1)$, and $\lambda \in$ $(0,2 \alpha]$ satisfy some parameters controlling conditions. They proved that if $F(S) \cap$ $V I(H, A, M) \neq \emptyset$, then the sequence $\left\{x_{n}\right\}$ converges strongly to $P_{F(S) \cap V I(H, A, M)} x_{0}$.

On the other hand, in 2000, Moudafi [21] introduced the so-called viscosity approximation method for nonexpansive mappings: Let $f$ be a contraction on $H$. Starting with an arbitrary $x_{0} \in H$, defined a sequence $\left\{x_{n}\right\}$ generated by

$$
\begin{equation*}
x_{n+1}=\alpha_{n} f\left(x_{n}\right)+\left(1-\alpha_{n}\right) S x_{n}, \quad n \geq 0, \tag{1.9}
\end{equation*}
$$

where $\left\{\alpha_{n}\right\}$ is a sequence in $(0,1)$. Moreover, Takahashi and Takahashi [25] introduced an iterative scheme by using the viscosity approximation method to proved a strong convergence theorem, which is connected with Combettes and Hirstoaga's result [7] and Wittmann's result [29].

In this paper, motivated by the iterative schemes considered in [21, 25, 31, 32], we will introduce the new following iterative process: given $x_{0} \in H$ arbitrarily and

$$
\left\{\begin{array}{l}
x_{n+1}=\alpha_{n} f\left(x_{n}\right)+\beta_{n} x_{n}+\gamma_{n} S J_{M}^{\lambda}\left(y_{n}-\lambda A y_{n}\right), \\
y_{n}=J_{M}^{\lambda}\left(x_{n}-\lambda A x_{n}\right), n \geq 0
\end{array}\right.
$$

We will use the sequence $\left\{x_{n}\right\}$ for finding a common element of the set of fixed points of a nonexpansive mapping and the solutions set of the quasi variational inequality inclusion problem for an $\alpha$-inverse-strongly monotone mapping in a real Hilbert space. Furthermore, we also provide some strong convergence theorems which are connected
with Yao and Yao's result [31] and Takahashi and Takahashi's result [25]. Our results extend and improve the results of Sheng et al. [32].

## 2. Preliminaries

Let $H$ be a real Hilbert space with norm $\|\cdot\|$ and inner product $\langle\cdot, \cdot\rangle$ and let $C$ be a closed convex subset of $H$. In the following, we denote by $\rightarrow$ strong convergence and by $\rightharpoonup$ weak convergence. It is well known that for any $\lambda \in[0,1]$

$$
\begin{equation*}
\|\lambda x+(1-\lambda) y\|^{2}=\lambda\|x\|^{2}+(1-\lambda)\|y\|^{2}-\lambda(1-\lambda)\|x-y\|^{2} . \tag{2.1}
\end{equation*}
$$

For every point $x \in H$, there exists a unique nearest point in $C$, denoted by $P_{C} x$, such that

$$
\left\|x-P_{C} x\right\| \leq\|x-y\| \quad \text { for all } y \in C
$$

$P_{C}$ is called the metric projection of $H$ onto $C$. It is well known that $P_{C}$ is a nonexpansive mapping of $H$ onto $C$ and satisfies

$$
\begin{equation*}
\left\langle x-y, P_{C} x-P_{C} y\right\rangle \geq\left\|P_{C} x-P_{C} y\right\|^{2} \tag{2.2}
\end{equation*}
$$

for every $x, y \in H$. Moreover, $P_{C} x$ is characterized by the following properties: $P_{C} x \in$ $C$ and

$$
\begin{gather*}
\left\langle x-P_{C} x, y-P_{C} x\right\rangle \leq 0,  \tag{2.3}\\
\|x-y\|^{2} \geq\left\|x-P_{C} x\right\|^{2}+\left\|y-P_{C} x\right\|^{2} \tag{2.4}
\end{gather*}
$$

for all $x \in H, y \in C$. It is easy to see that the following is true :

$$
\begin{equation*}
u \in V I(C, A) \Leftrightarrow u=P_{C}(u-\lambda A u), \lambda>0 \tag{2.5}
\end{equation*}
$$

We now recall some basic definitions and well-known results.
A mapping $S: H \rightarrow H$ is called L-Lipschitz continuous, if

$$
\|S x-S y\| \leq L\|x-y\| \quad \forall x, y \in H .
$$

In particular, if $L=1$ then $S$ is called a nonexpansive mapping. Moreover, if $L \in[0,1)$ then $S$ is called a contraction mapping.

Recall that a mapping $A: H \rightarrow H$ is said to be:
(i) monotone if $\langle A u-A v, u-v\rangle \geq 0, \forall u, v \in H$;
(ii) $\alpha$-inverse-strongly monotone $[2,18]$ if there exists a positive real number $\alpha$ such that

$$
\langle A u-A v, u-v\rangle \geq \alpha\|A u-A v\|^{2}, \quad \forall u, v \in C .
$$

Notice that any $\alpha$-inverse-strongly monotone mapping $A$ is monotone and $\frac{1}{\alpha}$-Lipschitz continuous. Moreover, if $A$ is $\alpha$-inverse-strongly monotone, then $I-\lambda A$ is a nonexpansive mapping from $C$ to $H$, provided $\lambda \leq 2 \alpha$.

A set-valued mapping $M: H \rightarrow 2^{H}$ is called monotone if for all $x, y \in H, f \in T x$ and $g \in T y$ imply $\langle x-y, f-g\rangle \geq 0$. A monotone mapping $M: H \rightarrow 2^{H}$ is maximal if the graph of $G(M)$ of $M$ is not properly contained in the graph of any other monotone mapping. It is known that a monotone mapping $M$ is maximal if and only if for $(x, f) \in H \times H,\langle x-y, f-g\rangle \geq 0$ for every $(y, g) \in G(M)$ implies $f \in M x$. Let
$M$ be a monotone map of $H$ into $H, L$-Lipschitz continuous mapping and let $N_{C} v$ be the normal cone to $C$ at $v \in C$, i.e., $N_{C} v=\{w \in H:\langle u-v, w\rangle \geq 0, \forall u \in C\}$. Define

$$
T v=\left\{\begin{array}{lc}
M v+N_{C} v, & v \in C \\
\emptyset, & v \notin C
\end{array}\right.
$$

Then $T$ is the maximal monotone and $0 \in T v$ if and only if $v \in V I(C, B)$; see [23].
Proposition 2.1. [32, Proposition 1.2] Let $M: H \rightarrow H$ be a maximal monotone mapping. For any $\lambda>0$, define the operator $J_{M}^{\lambda}: H \rightarrow H$ by $J_{M}^{\lambda}=(I+\lambda M)^{-1}$, where $I$ is the identity operator on $H$. Then $J_{M}^{\lambda}$ possesses the following properties:
(i) $J_{M}^{\lambda}$ is single-valued and nonexpansive mapping;
(ii) $J_{M}^{\lambda}$ is 1-inverse-strongly monotone, i.e.,

$$
\begin{equation*}
\left\|J_{M}^{\lambda} x-J_{M}^{\lambda} y\right\|^{2} \leq\left\langle x-y, J_{M}^{\lambda} x-J_{M}^{\lambda} y\right\rangle, \forall x, y \in H \tag{2.6}
\end{equation*}
$$

Definition 2.2. Let $M: H \rightarrow H$ be a maximal monotone mapping. Then for any $\lambda>0$, the mapping $J_{M}^{\lambda}: H \rightarrow H$ associated with $M$ defined by

$$
J_{M}^{\lambda}(x)=(I+\lambda M)^{-1}(x), \quad \forall x \in H,
$$

is called the resolvent operator.
Lemma 2.3. [32]. Let $M: H \rightarrow H$ be a maximal monotone mapping.
(1) For any $\lambda>0$, we have

$$
\begin{equation*}
u \in V I(H, A, M) \Leftrightarrow u=J_{M}^{\lambda}(u-\lambda A u), \forall \lambda>0 \tag{2.7}
\end{equation*}
$$

(2) If $\lambda \in(0,2 \alpha]$, then $\operatorname{VI}(H, A, M)$ is a closed convex subset in $H$.

In order to prove our main results, we need the following lemmas.
Lemma 2.4. [22] Let $(E,\langle.,\rangle$.$) be an inner product space. Then for all x, y, z \in E$ and $\alpha, \beta, \gamma \in[0,1]$ with $\alpha+\beta+\gamma=1$, we have
$\|\alpha x+\beta y+\gamma z\|^{2}=\alpha\|x\|^{2}+\beta\|y\|^{2}+\gamma\|z\|^{2}-\alpha \beta\|x-y\|^{2}-\alpha \gamma\|x-z\|^{2}-\beta \gamma\|y-z\|^{2}$.
Lemma 2.5. ([24]) Let $\left\{x_{n}\right\}$ and $\left\{z_{n}\right\}$ be bounded sequences in a Banach space $E$ and let $\left\{\beta_{n}\right\}$ be a sequence in $[0,1]$ with $0<\liminf _{n \rightarrow \infty} \beta_{n} \leq \limsup _{n \rightarrow \infty} \beta_{n}<1$. Suppose $x_{n+1}=\left(1-\beta_{n}\right) z_{n}+\beta_{n} x_{n}$ for all integers $n \geq 1$ and $\lim \sup _{n \rightarrow \infty}\left(\| z_{n+1}-\right.$ $\left.z_{n}\|-\| x_{n+1}-x_{n} \|\right) \leq 0$. Then, $\lim _{n \rightarrow \infty}\left\|z_{n}-x_{n}\right\|=0$.

Lemma 2.6. ([29]) Assume that $\left\{a_{n}\right\}$ is a sequence of nonnegative real numbers such that

$$
a_{n+1} \leq\left(1-\lambda_{n}\right) a_{n}+b_{n}, \quad \forall n \geq n_{0}
$$

where $n_{0}$ is some nonnegative integer, $\left\{\lambda_{n}\right\}$ is a sequence in $[0,1]$ with $\sum_{n=1}^{\infty} \lambda_{n}=\infty$, $b_{n}=\circ\left(\lambda_{n}\right)$, then $\lim _{n \rightarrow \infty} a_{n}=o$.

## 3. Main Results

In this section, we prove strong convergence theorems.

Theorem 3.1. Let $H$ be a real Hilbert space and let $A: H \rightarrow H$ be an $\alpha$-inversestrongly monotone mapping $M: H \rightarrow 2^{H}$ be a maximal monotone mapping and $S$ be a nonexpansive mapping of $H$ into itself. Let $f$ be a contraction of $H$ into itself. Let $\left\{x_{n}\right\}$ be a sequence generated by

$$
\left\{\begin{array}{l}
x_{0} \in H, \text { chosen arbitrary },  \tag{3.1}\\
x_{n+1}=\alpha_{n} f\left(x_{n}\right)+\beta_{n} x_{n}+\gamma_{n} S z_{n} \\
z_{n}=J_{M}^{\lambda}\left(y_{n}-\lambda A y_{n}\right) \\
y_{n}=J_{M}^{\lambda}\left(x_{n}-\lambda A x_{n}\right)
\end{array}\right.
$$

for all $n \in \mathbf{N} \cup\{0\}$, where $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\},\left\{\gamma_{n}\right\}$ are three sequences in $[0,1]$ and $\lambda \in$ $(0,2 \alpha]$. If $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\},\left\{\gamma_{n}\right\}$ and $\lambda$ are chosen so that $\lambda \in(a, b]$ for some $a, b$ with $0<a<\lambda \leq b<2 \alpha$ and
(i) $\alpha_{n}+\beta_{n}+\gamma_{n}=1$,
(ii) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$,
(iii) $0<\liminf _{n \rightarrow \infty} \beta_{n} \leq \limsup \operatorname{sum}_{n \rightarrow \infty} \beta_{n}<1$.

If $F(S) \cap V I(H, A, M) \neq \emptyset$, then $\left\{x_{n}\right\}$ converges strongly to $z_{0}$ which is the unique solution in $F(S) \cap V I(H, A, M)$ to the following variational inequality:

$$
\begin{equation*}
\left\langle(f-I) z_{0}, z_{0}-z\right\rangle \leq 0 \text { for all } z \in F(S) \cap V I(H, A, M) \tag{3.2}
\end{equation*}
$$

Equivalently, we have $z_{0}=P_{F(S) \cap V I(H, A, M)} f\left(z_{0}\right)$.

Proof. Let $v \in F(S) \cap V I(H, A, M)$, then $v=J_{M}^{\lambda}(v-\lambda A v)$. By the nonexpansiveness of $J_{M}^{\lambda}$ and $I-\lambda A$, we note that

$$
\begin{align*}
\left\|z_{n}-v\right\| & =\left\|J_{M}^{\lambda}\left(y_{n}-\lambda A y_{n}\right)-J_{M}^{\lambda}(v-\lambda A v)\right\| \\
& \leq\left\|\left(y_{n}-\lambda A y_{n}\right)-(v-\lambda A v)\right\| \\
& =\left\|(I-\lambda A) y_{n}-(I-\lambda A) v\right\| \\
& \leq\left\|y_{n}-v\right\|  \tag{3.3}\\
& =\left\|J_{M}^{\lambda}\left(x_{n}-\lambda A x_{n}\right)-J_{M}^{\lambda}(v-\lambda A v)\right\| \\
& \leq\left\|\left(x_{n}-\lambda A x_{n}\right)-(v-\lambda A v)\right\| \\
& \leq\left\|x_{n}-v\right\| . \tag{3.4}
\end{align*}
$$

Thus, we have

$$
\begin{aligned}
\left\|x_{n+1}-v\right\| & =\left\|\alpha_{n} f\left(x_{n}\right)+\beta_{n} x_{n}+\gamma_{n} S z_{n}-v\right\| \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|+\beta_{n}\left\|x_{n}-v\right\|+\gamma_{n}\left\|z_{n}-v\right\| \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|+\beta_{n}\left\|x_{n}-v\right\|+\gamma_{n}\left\|x_{n}-v\right\| \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-f(v)\right\|+\alpha_{n}\|f(v)-v\|+\left(1-\alpha_{n}\right)\left\|x_{n}-v\right\| \\
& \leq \alpha_{n} \alpha\left\|x_{n}-v\right\|+\alpha_{n}\|f(v)-v\|+\left(1-\alpha_{n}\right)\left\|x_{n}-v\right\| \\
& =\left(1-\alpha_{n}(1-\alpha)\right)\left\|x_{n}-v\right\|+\alpha_{n}(1-\alpha) \frac{\|f(v)-v\|}{(1-\alpha)} \\
& \leq \max \left\{\left\|x_{0}-v\right\|, \frac{\|f(v)-v\|}{(1-\alpha)}\right\} .
\end{aligned}
$$

Therefore $\left\{x_{n}\right\}$ is bounded. Consequently, the sets $\left\{x_{n}\right\},\left\{z_{n}\right\},\left\{S z_{n}\right\},\left\{A x_{n}\right\}$ and $\left\{A y_{n}\right\}$ are also bounded. Moreover, we observe that

$$
\begin{align*}
\left\|z_{n+1}-z_{n}\right\| & =\left\|J_{M}^{\lambda}\left(y_{n+1}-\lambda A y_{n+1}\right)-J_{M}^{\lambda}\left(y_{n}-\lambda A y_{n}\right)\right\| \\
& \leq\left\|\left(y_{n+1}-\lambda A y_{n+1}\right)-\left(y_{n}-\lambda A y_{n}\right)\right\| \\
& =\left\|(I-\lambda A) y_{n+1}-(I-\lambda A) y_{n}\right\| \\
& \leq\left\|y_{n+1}-y_{n}\right\| \\
& =\left\|J_{M}^{\lambda}\left(x_{n+1}-\lambda A x_{n+1}\right)-J_{M}^{\lambda}\left(x_{n}-\lambda_{n} A x_{n}\right)\right\| \\
& \leq\left\|\left(x_{n+1}-\lambda A x_{n+1}\right)-\left(x_{n}-\lambda_{n} A x_{n}\right)\right\| \\
& \leq\left\|x_{n+1}-x_{n}\right\| . \tag{3.5}
\end{align*}
$$

Let $x_{n+1}=\left(1-\beta_{n}\right) w_{n}+\beta_{n} x_{n}$. Thus, we note that

$$
w_{n}=\frac{x_{n+1}-\beta_{n} x_{n}}{1-\beta_{n}}=\frac{\alpha_{n} f\left(x_{n}\right)+\gamma_{n} S z_{n}}{1-\beta_{n}}=\frac{\alpha_{n} f\left(x_{n}\right)+\gamma_{n} S J_{M}^{\lambda}\left(y_{n}-\lambda A y_{n}\right)}{1-\beta_{n}}
$$

and hence we have

$$
\begin{align*}
w_{n+1}-w_{n}= & \frac{\alpha_{n+1} f\left(x_{n+1}\right)+\gamma_{n+1} S z_{n+1}}{1-\beta_{n+1}}-\frac{\alpha_{n} f\left(x_{n}\right)+\gamma_{n} S z_{n}}{1-\beta_{n}} \\
= & \frac{\alpha_{n+1} f\left(x_{n+1}\right)+\gamma_{n+1} S z_{n+1}}{1-\beta_{n+1}}-\frac{\alpha_{n+1} f\left(x_{n}\right)+\gamma_{n+1} S z_{n}}{1-\beta_{n+1}} \\
& +\frac{\alpha_{n+1} f\left(x_{n}\right)+\gamma_{n+1} S z_{n}}{1-\beta_{n+1}}-\frac{\alpha_{n} f\left(x_{n}\right)+\gamma_{n} S z_{n}}{1-\beta_{n}} \\
= & \frac{\alpha_{n+1}}{1-\beta_{n+1}}\left(f\left(x_{n+1}\right)-f\left(x_{n}\right)\right)+\left(\frac{\alpha_{n+1}}{1-\beta_{n+1}}-\frac{\alpha_{n}}{1-\beta_{n}}\right) f\left(x_{n}\right) \\
& +\frac{\gamma_{n+1}}{1-\beta_{n+1}}\left(S z_{n+1}-S z_{n}\right)+\left(\frac{\gamma_{n+1}}{1-\beta_{n+1}}-\frac{\gamma_{n}}{1-\beta_{n}}\right) S z_{n} . \tag{3.6}
\end{align*}
$$

Combining (3.5) and (3.6), we obtain

$$
\begin{gathered}
\left\|w_{n+1}-w_{n}\right\|-\left\|x_{n+1}-x_{n}\right\| \leq \frac{\alpha_{n+1}}{1-\beta_{n+1}}\left\|f\left(x_{n+1}\right)-f\left(x_{n}\right)\right\|+\left|\frac{\alpha_{n+1}}{1-\beta_{n+1}}-\frac{\alpha_{n}}{1-\beta_{n}}\right|\left\|f\left(x_{n}\right)\right\| \\
+\frac{\gamma_{n+1}}{1-\beta_{n+1}}\left\|z_{n+1}-z_{n}\right\|+\left|\frac{\gamma_{n+1}}{1-\beta_{n+1}}-\frac{\gamma_{n}}{1-\beta_{n}}\right|\left\|S z_{n}\right\|-\left\|x_{n+1}-x_{n}\right\|
\end{gathered}
$$

$$
\begin{gathered}
\quad \leq \frac{\alpha_{n+1}}{1-\beta_{n+1}} \alpha\left\|x_{n+1}-x_{n}\right\|+\left|\frac{\alpha_{n+1}}{1-\beta_{n+1}}-\frac{\alpha_{n}}{1-\beta_{n}}\right|\left\|f\left(x_{n}\right)\right\| \\
\left.+\frac{\gamma_{n+1}}{1-\beta_{n+1}}\left\|x_{n+1}-x_{n}\right\|+\frac{\gamma_{n+1}}{1-\beta_{n+1}}-\frac{\gamma_{n}}{1-\beta_{n}} \right\rvert\,\left\|S z_{n}\right\|-\left\|x_{n+1}-x_{n}\right\| \\
\quad \leq \frac{\alpha_{n+1}}{1-\beta_{n+1}} \alpha\left\|x_{n+1}-x_{n}\right\|+\left|\frac{\alpha_{n+1}}{1-\beta_{n+1}}-\frac{\alpha_{n}}{1-\beta_{n}}\right|\left\|f\left(x_{n}\right)\right\| \\
\quad+\left|\frac{\gamma_{n+1}}{1-\beta_{n+1}}-\frac{\gamma_{n}}{1-\beta_{n}}\right|\left\|S z_{n}\right\|+\left(\frac{\gamma_{n+1}}{1-\beta_{n+1}}-1\right)\left\|x_{n+1}-x_{n}\right\| \\
\leq\left|\frac{\alpha_{n+1}(\alpha-1)}{1-\beta_{n+1}}\right|\left\|x_{n+1}-x_{n}\right\|+\left|\frac{\alpha_{n+1}}{1-\beta_{n+1}}-\frac{\alpha_{n}}{1-\beta_{n}}\right|\left(\left\|f\left(x_{n}\right)\right\|+\left\|S z_{n}\right\|\right)
\end{gathered}
$$

This together with (ii) and (iii) imply that

$$
\limsup _{n \rightarrow \infty}\left(\left\|w_{n+1}-w_{n}\right\|-\left\|x_{n+1}-x_{n}\right\|\right) \leq 0
$$

Hence, by Lemma 2.5, we obtain $\left\|w_{n}-x_{n}\right\| \rightarrow 0$ as $n \rightarrow \infty$. Consequently,

$$
\begin{equation*}
\lim _{n \rightarrow \infty}\left\|x_{n+1}-x_{n}\right\|=\lim _{n \rightarrow \infty}\left(1-\beta_{n}\right)\left\|w_{n}-x_{n}\right\|=0 \tag{3.7}
\end{equation*}
$$

From (iii), (3.5) and (3.7), we also have $\left\|z_{n+1}-z_{n}\right\| \rightarrow 0,\left\|x_{n+1}-x_{n}\right\| \rightarrow 0$ and $\left\|y_{n+1}-y_{n}\right\| \rightarrow 0$ as $n \rightarrow \infty$. Since

$$
x_{n+1}-x_{n}=\alpha_{n} f\left(x_{n}\right)+\beta_{n} x_{n}+\gamma_{n} S z_{n}-x_{n}=\alpha_{n}\left(f\left(x_{n}\right)-x_{n}\right)+\gamma_{n}\left(S z_{n}-x_{n}\right),
$$

it follows by (ii) and (3.7) that

$$
\begin{equation*}
\left\|x_{n}-S z_{n}\right\| \rightarrow 0 \text { as } n \rightarrow \infty \tag{3.8}
\end{equation*}
$$

From Lemma 2.4, equations (3.1) and (3.3), we get

$$
\begin{aligned}
\left\|x_{n+1}-v\right\|^{2} & \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2}+\gamma_{n}\left\|z_{n}-v\right\|^{2} \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2}+\gamma_{n}\left\|y_{n}-v\right\|^{2} \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2} \\
& +\gamma_{n}\left\{\left\|J_{M}^{\lambda}\left(x_{n}-\lambda A x_{n}\right)-J_{M}^{\lambda}(v-\lambda A v)\right\|^{2}\right\} \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2} \\
& +\gamma_{n}\left\{\left\|\left(x_{n}-\lambda A x_{n}\right)-(v-\lambda A v)\right\|^{2}\right\} \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2} \\
& +\gamma_{n}\left\{\left\|x_{n}-v\right\|^{2}+\lambda(\lambda-2 \alpha)\left\|A x_{n}-A v\right\|^{2}\right\} \\
& =\alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2} \\
& +\gamma_{n}\left\|x_{n}-v\right\|^{2}+\gamma_{n} \lambda(\lambda-2 \alpha)\left\|A x_{n}-A v\right\|^{2} \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\left(1-\alpha_{n}\right)\left\|x_{n}-v\right\|^{2}+\gamma_{n} a(b-2 \alpha)\left\|A x_{n}-A v\right\|^{2} .
\end{aligned}
$$

Therefore, we have

$$
\begin{align*}
& -\gamma_{n} a(b-2 \alpha)\left\|A x_{n}-A v\right\|^{2} \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\left\|x_{n}-v\right\|^{2}-\left\|x_{n+1}-v\right\|^{2} \\
& =\alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\left(\left\|x_{n}-v\right\|+\left\|x_{n+1}-v\right\|\right) \times\left(\left\|x_{n}-v\right\|-\left\|x_{n+1}-v\right\|\right) \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\left(\left\|x_{n}-v\right\|+\left\|x_{n+1}-v\right\|\right) \times\left\|x_{n}-x_{n+1}\right\| . \tag{3.9}
\end{align*}
$$

Since $\alpha_{n} \rightarrow 0$ and $\left\|x_{n}-x_{n+1}\right\| \rightarrow 0$ as $n \rightarrow \infty$, from (3.9), we obtain $\left\|A x_{n}-A v\right\| \rightarrow 0$ as $n \rightarrow \infty$. Since $J_{M}^{\lambda}$ is 1-inverse-strongly monotone mapping, we have

$$
\begin{aligned}
\left\|y_{n}-v\right\|^{2} & =\left\|J_{M}^{\lambda}\left(x_{n}-\lambda A x_{n}\right)-J_{M}^{\lambda}(v-\lambda A v)\right\|^{2} \\
& \leq\left\langle\left(x_{n}-\lambda A x_{n}\right)-(v-\lambda A v), y_{n}-v\right\rangle \\
& =\frac{1}{2}\left\{\left\|\left(x_{n}-\lambda A x_{n}\right)-(v-\lambda A v)\right\|^{2}+\left\|y_{n}-v\right\|^{2}\right. \\
& \left.-\left\|\left(x_{n}-\lambda A x_{n}\right)-(v-\lambda A v)-\left(y_{n}-v\right)\right\|^{2}\right\} \\
& \leq \frac{1}{2}\left\{\left\|x_{n}-v\right\|^{2}+\left\|y_{n}-v\right\|^{2}-\left\|\left(x_{n}-y_{n}\right)-\lambda\left(A x_{n}-A v\right)\right\|^{2}\right\} \\
& =\frac{1}{2}\left\{\left\|x_{n}-v\right\|^{2}+\left\|y_{n}-v\right\|^{2}-\left\|x_{n}-y_{n}\right\|^{2}\right. \\
& \left.+2 \lambda\left\langle x_{n}-y_{n}, A x_{n}-A v\right\rangle-\lambda^{2}\left\|A x_{n}-A v\right\|^{2}\right\}
\end{aligned}
$$

so, we obtain

$$
\left\|y_{n}-v\right\|^{2} \leq\left\|x_{n}-v\right\|^{2}-\left\|x_{n}-y_{n}\right\|^{2}+2 \lambda\left\langle x_{n}-y_{n}, A x_{n}-A v\right\rangle-\lambda^{2}\left\|A x_{n}-A v\right\|^{2} .
$$

Hence

$$
\begin{aligned}
\left\|x_{n+1}-v\right\|^{2} & \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2}+\gamma_{n}\left\|z_{n}-v\right\|^{2} \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2}+\gamma_{n}\left\|y_{n}-v\right\|^{2} \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2}+\gamma_{n}\left\{\left\|x_{n}-v\right\|^{2}-\left\|x_{n}-y_{n}\right\|^{2}\right. \\
& \left.+2 \lambda\left\langle x_{n}-y_{n}, A x_{n}-A v\right\rangle-\lambda^{2}\left\|A x_{n}-A v\right\|^{2}\right\} \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\beta_{n}\left\|x_{n}-v\right\|^{2}+\gamma_{n}\left\{\left\|x_{n}-v\right\|^{2}-\left\|x_{n}-y_{n}\right\|^{2}\right. \\
& \left.+2 \lambda\left\langle x_{n}-y_{n}, A x_{n}-A v\right\rangle-\lambda^{2}\left\|A x_{n}-A v\right\|^{2}\right\} \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\left\|x_{n}-v\right\|^{2}-\gamma_{n}\left\|x_{n}-y_{n}\right\|^{2} \\
& +2 \gamma_{n} \lambda\left\|x_{n}-y_{n}\right\|\left\|A x_{n}-A v\right\|
\end{aligned}
$$

which implies that

$$
\begin{align*}
\gamma_{n}\left\|x_{n}-y_{n}\right\|^{2} & \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+\left\|x_{n}-v\right\|^{2}-\left\|x_{n+1}-v\right\|^{2} \\
& +2 \gamma_{n} \lambda\left\|x_{n}-y_{n}\right\|\left\|A x_{n}-A v\right\| \\
& \leq \alpha_{n}\left\|f\left(x_{n}\right)-v\right\|^{2}+2 \gamma_{n} \lambda\left\|x_{n}-y_{n}\right\|\left\|A x_{n}-A v\right\| \\
& +\left\|x_{n}-x_{n+1}\right\| \times\left(\left\|x_{n}-v\right\|+\left\|x_{n+1}-v\right\|\right) \tag{3.10}
\end{align*}
$$

From $\alpha_{n} \rightarrow 0,\left\|x_{n}-x_{n+1}\right\| \rightarrow 0$ and $\left\|A x_{n}-A v\right\| \rightarrow 0$ as $n \rightarrow \infty$, we have $\left\|x_{n}-y_{n}\right\| \rightarrow 0$ as $n \rightarrow \infty$. Since

$$
\begin{aligned}
\left\|S z_{n}-z_{n}\right\| & \leq\left\|S z_{n}-x_{n}\right\|+\left\|x_{n}-y_{n}\right\|+\left\|y_{n}-z_{n}\right\| \\
& =\left\|S z_{n}-x_{n}\right\|+\left\|x_{n}-y_{n}\right\|+\left\|J_{M}^{\lambda}\left(x_{n}-\lambda A x_{n}\right)-J_{M}^{\lambda}\left(y_{n}-\lambda A y_{n}\right)\right\| \\
& \leq\left\|S z_{n}-x_{n}\right\|+\left\|x_{n}-y_{n}\right\|+\left\|\left(x_{n}-\lambda A x_{n}\right)-\left(y_{n}-\lambda A y_{n}\right)\right\| \\
& \leq\left\|S z_{n}-x_{n}\right\|+2\left\|x_{n}-y_{n}\right\|,
\end{aligned}
$$

we get $\left\|S z_{n}-z_{n}\right\| \rightarrow 0$ as $n \rightarrow \infty$. Hence

$$
\left\|z_{n}-y_{n}\right\| \leq\left\|z_{n}-S z_{n}\right\|+\left\|S z_{n}-x_{n}\right\|+\left\|x_{n}-y_{n}\right\| \rightarrow 0, n \rightarrow \infty
$$

It is clear that $P_{F(S) \cap V I(H, A, M)} f$ is contractive, then $P_{F(S) \cap V I(H, A, M)} f$ has a unique fixed point, say $z_{0} \in H$. That is $z_{0}=P_{F(S) \cap V I(H, A, M)} f z_{0}$.
Next, we show that

$$
\limsup _{n \rightarrow \infty}\left\langle f\left(z_{0}\right)-z_{0}, x_{n}-z_{0}\right\rangle \leq 0
$$

To this end, we choose a subsequence $\left\{z_{n_{i}}\right\}$ of $\left\{z_{n}\right\}$ such that

$$
\limsup _{n \rightarrow \infty}\left\langle f\left(z_{0}\right)-z_{0}, S z_{n}-z_{0}\right\rangle=\lim _{i \rightarrow \infty}\left\langle f\left(z_{0}\right)-z_{0}, S z_{n_{i}}-z_{0}\right\rangle
$$

Since $\left\{z_{n_{i}}\right\}$ is bounded, there exists a subsequence $\left\{z_{n_{i_{j}}}\right\}$ of $\left\{z_{n_{i}}\right\}$ which converges weakly to $z$. Without loss of generality, we can assume that $z_{n_{i}} \rightharpoonup z$. From $\| S z_{n}-$ $z_{n} \| \rightarrow 0$, we obtain $S z_{n_{i}} \rightharpoonup z$. By the Opial's condition, we obtain $z \in F(S)$.

Finally, by the same argument as that in the proof of [32, Theorem 2.1, p. 578-579], we can show that $z \in \operatorname{VI}(H, A, M)$. Hence $z \in F(S) \cap V I(H, A, M)$.

Now from (3.8), we have

$$
\begin{align*}
\limsup _{n \rightarrow \infty}\left\langle f\left(z_{0}\right)-z_{0}, x_{n}-z_{0}\right\rangle & =\limsup _{n \rightarrow \infty}\left\langle f\left(z_{0}\right)-z_{0}, S z_{n}-z_{0}\right\rangle \\
& =\lim _{i \rightarrow \infty}\left\langle f\left(z_{0}\right)-z_{0}, S z_{n_{i}}-z_{0}\right\rangle \\
& =\left\langle f\left(z_{0}\right)-z_{0}, z-z_{0}\right\rangle \leq 0 . \tag{3.11}
\end{align*}
$$

Therefore,

$$
\begin{aligned}
\left\|x_{n+1}-z_{0}\right\|^{2} & =\left\langle\alpha_{n} f\left(x_{n}\right)+\beta_{n} x_{n}+\gamma_{n} S z_{n}-z_{0}, x_{n+1}-z_{0}\right\rangle \\
& =\alpha_{n}\left\langle f\left(x_{n}\right)-z_{0}, x_{n+1}-z_{0}\right\rangle+\beta_{n}\left\langle x_{n}-z_{0}, x_{n+1}-z_{0}\right\rangle \\
& +\gamma_{n}\left\langle S z_{n}-z_{0}, x_{n+1}-z_{0}\right\rangle \\
& \leq \alpha_{n}\left\langle f\left(x_{n}\right)-z_{0}, x_{n+1}-z_{0}\right\rangle+\frac{1}{2} \beta_{n}\left(\left\|x_{n}-z_{0}\right\|^{2}+\left\|x_{n+1}-z_{0}\right\|^{2}\right) \\
& +\frac{1}{2} \gamma_{n}\left(\left\|z_{n}-z_{0}\right\|^{2}+\left\|x_{n+1}-z_{0}\right\|^{2}\right) \\
& =\frac{1}{2}\left(\beta_{n}+\gamma_{n}\right)\left(\left\|x_{n}-z_{0}\right\|^{2}+\left\|x_{n+1}-z_{0}\right\|^{2}\right) \\
& +\alpha_{n}\left\langle f\left(x_{n}\right)-f\left(z_{0}\right), x_{n+1}-z_{0}\right\rangle+\alpha_{n}\left\langle f\left(z_{0}\right)-z_{0}, x_{n+1}-z_{0}\right\rangle \\
& =\frac{1}{2}\left(1-\alpha_{n}\right)\left(\left\|x_{n}-z_{0}\right\|^{2}+\left\|x_{n+1}-z_{0}\right\|^{2}\right)+\alpha_{n} \alpha\left\|x_{n}-z_{0}\right\|\left\|x_{n+1}-z_{0}\right\| \\
& +\alpha_{n}\left\langle f\left(z_{0}\right)-z_{0}, x_{n+1}-z_{0}\right\rangle \\
& \leq \frac{1}{2}\left\{\left(1-\alpha_{n}\right)\left\|x_{n}-z_{0}\right\|^{2}+\left\|x_{n+1}-z_{0}\right\|^{2}\right\}+\alpha_{n} \alpha\left\|x_{n}-z_{0}\right\|\left\|x_{n+1}-z_{0}\right\| \\
& +\alpha_{n}\left\langle f\left(z_{0}\right)-z_{0}, x_{n+1}-z_{0}\right\rangle
\end{aligned}
$$

which implies that
$\left\|x_{n+1}-z_{0}\right\|^{2} \leq\left(1-\alpha_{n}\right)\left\|x_{n}-z_{0}\right\|^{2}+2 \alpha_{n} \alpha\left\|x_{n}-z_{0}\right\|\left\|x_{n+1}-z_{0}\right\|+2 \alpha_{n}\left\langle f\left(z_{0}\right)-z_{0}, x_{n+1}-z_{0}\right\rangle$.

Finally by (3.11) and Lemma 2.6, we get that $\left\{x_{n}\right\}$ converges to $z_{0}$. This completes the proof.

Using the same argument as in the proof in Theorem 3.1, we can obtain the following theorems in Hilbert Spaces.
Theorem 3.2. Let $H$ be a real Hilbert space and let $A$ be an $\alpha$-inverse-strongly monotone mapping of $C$ into $H, M: H \rightarrow 2^{H}$ be a maximal monotone mapping and $S$ be a nonexpansive mapping of $H$ into itself. Suppose that $F(S) \cap V I(H, A, M) \neq \emptyset$. Let $f$ be a contraction of $H$ into itself and given $x_{0} \in H$ arbitrarily and $\left\{x_{n}\right\}$ is the sequences defined by

$$
\begin{equation*}
x_{n+1}=\alpha_{n} f\left(x_{n}\right)+\beta_{n} x_{n}+\gamma_{n} S J_{M}^{\lambda}\left(x_{n}-\lambda A x_{n}\right), \tag{3.12}
\end{equation*}
$$

for all $n \in \mathbf{N} \cup\{0\}$, where $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\},\left\{\gamma_{n}\right\}$ are three sequences in $[0,1]$ and $\lambda \in(0,2 \alpha]$. If $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\}$ and $\left\{\gamma_{n}\right\}$ satisfy the following conditions:
(i) $\alpha_{n}+\beta_{n}+\gamma_{n}=1$,
(ii) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$,
(iii) $0<\liminf _{n \rightarrow \infty} \beta_{n} \leq \limsup \operatorname{sum}_{n \rightarrow \infty} \beta_{n}<1$,
then $\left\{x_{n}\right\}$ converges strongly to $z_{0}$ which is the unique solution in $F(S) \cap V I(H, A, M)$ to the following variational inequality:

$$
\begin{equation*}
\left\langle(f-I) z_{0}, z_{0}-z\right\rangle \leq 0 \text { for all } z \in F(S) \cap V I(H, A, M) \tag{3.13}
\end{equation*}
$$

Corollary 3.3. Let $H$ be a real Hilbert space and let $A$ be an $\alpha$-inverse-strongly monotone mapping of $C$ into $H, M: H \rightarrow 2^{H}$ be a maximal monotone mapping and $S$ be a nonexpansive mapping of $H$ into itself. Suppose that $F(S) \cap V I(H, A, M) \neq \emptyset$. Given $x_{0}=u \in H$ arbitrarily and $\left\{x_{n}\right\}$ is the sequences defined by

$$
\begin{equation*}
x_{n+1}=\alpha_{n} u+\beta_{n} x_{n}+\gamma_{n} S J_{M}^{\lambda}\left(x_{n}-\lambda A x_{n}\right) \tag{3.14}
\end{equation*}
$$

for all $n \in \mathbf{N} \cup\{0\}$, where $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\},\left\{\gamma_{n}\right\}$ are three sequences in $[0,1]$ and $\lambda \in$ $(0,2 \alpha]$. If $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\},\left\{\gamma_{n}\right\}$ and $\{\lambda\}$ are chosen so that $\lambda \in(a, b]$ for some $a, b$ with $0<a<\lambda \leq b<2 \alpha$ and
(i) $\alpha_{n}+\beta_{n}+\gamma_{n}=1$,
(ii) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$,
(iii) $0<\liminf _{n \rightarrow \infty} \beta_{n} \leq \limsup \operatorname{sum}_{n \rightarrow \infty} \beta_{n}<1$,
then $\left\{x_{n}\right\}$ converges strongly to $P_{F(S) \cap V I(H, A, M)} x_{0}$.
Proof. Put $f\left(x_{n}\right)=x_{0}$, for all $n \in \mathbf{N}$ in Theorem 3.2, we obtain the desired easily.

## 4. Applications

Using Theorem 3.1, we obtain the following results.
Theorem 4.1. Let $C$ be a closed convex subset of a real Hilbert space H. Let $A$ be an $\alpha$-inverse-strongly monotone mapping of $C$ into $H$ and let $S$ be a nonexpansive mapping of $C$ into itself such that $F(S) \cap \operatorname{VI}(C, A) \neq \emptyset$. Suppose $x_{1}=u \in C$ and $\left\{x_{n}\right\},\left\{y_{n}\right\}$ are given by

$$
\left\{\begin{array}{l}
y_{n}=P_{C}\left(x_{n}-\lambda A x_{n}\right) \\
x_{n+1}=\alpha_{n} f\left(x_{n}\right)+\beta_{n} x_{n}+\gamma_{n} S P_{C}\left(y_{n}-\lambda A y_{n}\right),
\end{array}\right.
$$

where $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\},\left\{\gamma_{n}\right\}$ are three sequences in $[0,1]$ and $\lambda \in(0,2 \alpha]$. If $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\}$, $\left\{\gamma_{n}\right\}$ and $\left\{\lambda_{n}\right\}$ are chosen so that $\lambda_{n} \in[a, b]$ for some $a, b$ with $0<a<b<2 \alpha$ and
(i) $\alpha_{n}+\beta_{n}+\gamma_{n}=1$,
(ii) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$,
(iii) $0<\liminf _{n \rightarrow \infty} \beta_{n} \leq \lim \sup _{n \rightarrow \infty} \beta_{n}<1$,
then $\left\{x_{n}\right\}$ converges strongly to $P_{F(S) \cap V I(C, A)} f\left(z_{0}\right)$.
Proof. Take $M=\partial \delta_{C}: H \rightarrow 2^{H}$, where $\delta_{C}: H \rightarrow[0, \infty]$ is the indicator function of $C$, i.e.,

$$
\delta_{C}(x)= \begin{cases}0, & x \in C \\ +\infty, & x \notin C\end{cases}
$$

Then the variational inclusion problem (1.1) is equivalent to variational inequality problem (1.4) (see [32]). Putting $J_{M_{\mid C}}^{\lambda}=I$, and we get

$$
y_{n}=P_{C}\left(x_{n}-\lambda A x_{n}\right)=J_{M}^{\lambda}\left(P_{C}\left(x_{n}-\lambda A x_{n}\right)\right)
$$

and

$$
z_{n}=P_{C}\left(y_{n}-\lambda A y_{n}\right)=J_{M}^{\lambda}\left(P_{C}\left(y_{n}-\lambda A y_{n}\right)\right) .
$$

The conclusion of Theorem 4.1 can be obtained from Theorem 3.1 immediately.
Next, we will apply the main results to the problem for finding a common element of the set of fixed points of a nonexpansive mappings and the set of fixed points of a $k$-strictly pseudocontractive mapping.

Definition 4.2. A mapping $T: C \rightarrow H$ is said to be a $k$-strictly pseudocontractive mapping, if there exists $k \in[0,1)$ such that

$$
\begin{equation*}
\|T x-T y\|^{2} \leq\|x-y\|^{2}+k\|(I-T) x-(I-T) y\|^{2}, \forall x, y \in C . \tag{4.1}
\end{equation*}
$$

Remark 4.3. If $T: C \rightarrow H$ is a $k$-strictly pseudocontractive mapping, then $I-T$ is $\frac{1-k}{2}$-inverse-strongly monotone. Indeed, Let $T: C \rightarrow H$ be a $k$-strictly pseudocontractive mapping for some $0 \leq k<1$. Set the mapping $A=I-T: C \rightarrow H$. From

$$
\|T x-T y\|^{2} \leq\|x-y\|^{2}+k\|(I-T) x-(I-T) y\|^{2}, \forall x, y \in C
$$

we have

$$
\|(I-A) x-(I-A) y\|^{2} \leq\|x-y\|^{2}+k\|A x-A y\|^{2} .
$$

On the other hand, we observe that

$$
\|(I-A) x-(I-A) y\|^{2}=\|x-y\|^{2}-2\langle x-y, A x-A y\rangle+\|A x-A y\|^{2}
$$

Hence we have

$$
\langle x-y, A x-A y\rangle \geq \frac{1-k}{2}\|A x-A y\|^{2}
$$

This shows that $A$ is $\frac{1-k}{2}$-inverse-strongly monotone.

Theorem 4.4. Let $C$ be a closed convex subset of a real Hilbert space $H$. Let $S$ be a nonexpansive mapping of $C$ into itself and let $T$ be a strictly pseudocontractive mapping with constant $k$ of $C$ into itself such that $F(S) \cap F(T) \neq \emptyset$. For $x_{1}=u \in C$, let the sequence $\left\{x_{n}\right\}$ be given by

$$
\left\{\begin{array}{l}
y_{n}=(1-\lambda) x_{n}+\lambda T x_{n} \\
x_{n+1}=\alpha_{n} f\left(x_{n}\right)+\beta_{n} x_{n}+\gamma_{n} S\left((1-\lambda) y_{n}+\lambda T y_{n}\right)
\end{array}\right.
$$

for all $n \in \mathbf{N} \cup\{0\}$, where $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\},\left\{\gamma_{n}\right\}$ are three sequences in $[0,1]$ and $\lambda \in$ $[0,1-k]$. If $\left\{\alpha_{n}\right\},\left\{\beta_{n}\right\},\left\{\gamma_{n}\right\}$ and $\lambda$ are chosen so that $\lambda \in[a, b]$ for some $a, b$ with $0<a<b<1-k$ and
(i) $\alpha_{n}+\beta_{n}+\gamma_{n}=1$,
(ii) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$,
(iii) $0<\liminf _{n \rightarrow \infty} \beta_{n} \leq \lim \sup _{n \rightarrow \infty} \beta_{n}<1$,
then $\left\{x_{n}\right\}$ converges strongly to $P_{F(S) \cap F(T)} u$.
Proof. Setting $A=I-T$, we obtain $A$ is $\frac{1-k}{2}$-inverse-strongly monotone. We observe that $F(T)$ is the solution set of $V I(A, C)$ i.e., $F(T)=V I(A, C)$. Moreover, since $P_{C}\left(x_{n}-\lambda A x_{n}\right)=(1-\lambda) x_{n}+\lambda T x_{n}$ and $P_{C}\left(y_{n}-\lambda A y_{n}\right)=(1-\lambda) y_{n}+\lambda T y_{n}$, by Theorem 4.1, the conclusion follows.

Acknowledgments. This work was supported by "National Centre of Excellence in Mathematics", PERDO, under the Commission on Higher Education, Ministry of Education, Thailand. Moreover, the authors are extremely grateful to the referees for useful suggestions and comments of this manuscript.

## References

[1] R. Ahmad, Q.H. Ansari, S.S. Irfan, Generalized variational inclusions and generalized resolvent equations in Banach spaces, Comput. Math. Appl., 49(2005), 18251835.
[2] F.E. Browder, W.V. Petryshyn, Construction of fixed points of nonlinear mappings in Hilbert space, J. Math. Anal. Appl., 20(1967), 197-228.
[3] J. Chen, L. Zhang, T. Fan, Viscosity approximation methods for nonexpansive mappings and monotone mappings, J. Math. Anal. Appl., 334(2007), 1450-1461.
[4] L.C. Ceng, A. Petruşel, J.C. Yao, Iterative approaches to solving equilibrium problems and fixed point problems of infinitely many nonexpansive mappings, J. Optim. Theory and Appl., 143(2009), 37-58.
[5] L.C. Ceng, A. Petruşel, J.C. Yao, Weak convergence theorem by a modified extragradient method for nonexpansive mappings and monotone mappings, Fixed Point Theory, 9(2008), no. 1, 73-87.
[6] Y.J. Cho, Y. Yao, H. Zhou, Strong convergence of an iterative algorithm for accretive operators in Banach spaces, J. Comput. Anal. Appl., 10(2008), no. 1, 113-125.
[7] P.L. Combettes, S.A. Hirstoaga, Equilibrium programming using proximal-like algorithms, Math. Program, 78(1997), 29-41.
[8] X.P. Ding, Perturbed proximal point for generalized quasivariational inclusions, J. Math. Anal. Appl., 210(1997), 88101.
[9] V.F. Demyanov, G.E. Stavroulakis, L.N. Polyakova, P.D. Panagiotopoulos, Quasi Differentiability and Nonsmooth Modeling in Mechanics, Engineering and Economics, Kluwer Academic, Dordrecht, 1996.
[10] Y.-P. Fang, N.-J. Huang, Iterative algorithm for a system of variational inclusions involving H-accretive operators in Banach spaces, Acta Math. Hungar., 108(2005), no. 3, 183195.
[11] C.S. Hu, G. Cai, Viscosity approximation schemes for fixed point problems and equilibrium problems and variational inequality problems, Nonlinear Anal., 72 (2010), 1792-1808.
[12] C. Jaiboon, P. Kumam, A hybrid extragradient viscosity approximation method for solving equilibrium problems and fixed point problems of infinitely many nonexpansive mappings, Fixed Point Theory and Applications, 2009(2009), Article ID 374815, 32 pages.
[13] C. Jaiboon, P. Kumam, U.W. Humphries, Weak convergence theorem by an extragradient method for variational inequality, equilibrium and fixed point problems, Bull. Malays. Math. Sci. Soc., 32(2009), no. 2, 173-185.
[14] G. M. Korpelevich, The extragradient method for finding saddle points and other problems, Ekonomika i Matematicheskie Metody, 12(1976), 747-756.
[15] P. Kumam, Strong convergence theorems by an extragradient method for solving variational inequalities and equilibrium problems in a Hilbert space, Turk. J. Math., 33(2009), 85-98.
[16] P. Kumam, P. Katchang, A viscosity of extragradient approximation method for finding equilibrium problems, variational inequalities and fixed point problems for nonexpansive mappings, Nonlinear Anal. Hybrid Systems, 3(2009), 475-486.
[17] W. Kumam, P. Kumam, Hybrid iterative scheme by a relaxed extragradient method for solutions of equilibrium problems and a general system of variational inequalities with application to optimization, Nonlinear Anal. Hybrid Systems, 3(2009), 640-656.
[18] F. Liu, M.Z. Nashed, Regularization of nonlinear Ill-posed variational inequalities and convergence rates, Set-Valued Anal., 6(1998), 313-344.
[19] W.B. Liu, J.E. Rubio, Optimal shape design for systems governed by variational inequalities-2. Existence theory for the evolution case, J. Optim. Theory Appl., 69(1991), 373396.
[20] R. Mifflin, Semismooth and semiconvex functions in constrained optimization, SIAM J. Control Optim., 15(1977), 957972.
[21] A. Moudafi, Viscosity approximation methods for fixed-points problems, J. Math. Anal. Appl., 241(2000), 46-55.
[22] M.O. Osilike, D.I. Igbokwe, Weak and strong convergence theorems for fixed points of pseudocontractions and solutions of monotone type operator equations, Comput. Math. Appl., 40(2000), 559-567.
[23] R.T. Rockafellar, Monotone operators and proximal point algorithm, SIAM J. Control Optim., 14(1976), 877-898.
[24] T. Suzuki, Strong convergence of krasnoselskii and manns type sequences for one-parameter nonexpansive semigroups without bochner integrals, J. Math. Anal. Appl., 305(2005), 227-239.
[25] S. Takahashi, W. Takahashi, Viscosity approximation methods for equilibrium problems and fixed point problems in Hilbert spaces, J. Math. Anal. Appl., 311(2007), no. 1, 506-515.
[26] W. Takahashi, M. Toyoda, Weak convergence theorems for nonexpansive mappings and monotone mappings, J. Optim. Theory Appl. 118(2003), 417-428.
[27] R.U. Verma, General system of a monotone nonlinear variational inclusion problems with applications, J. Optim. Theory Appl., 131(2006), no. 1, 151-157.
[28] R.U. Verma, A monotone nonlinear relaxed cocoercive variational inclusions, Central European J. Math., 5(2007), no. 2, 386-396.
[29] R. Wittmann, Approximation of fixed points of nonexpansive mappings, Arch. Math., 58(1992), 486-491.
[30] R. Wangkeeree, U. Kamraksa, An iterative approximation method for solving a general system of variational inequality problems and mixed equilibrium problems, Nonlinear Anal. Hybrid Systems, 3(2009), 615-630.
[31] Y. Yao, J.-C. Yao, On modified iterative method for nonexpansive mappings and monotone mappings, Appl. Math. Comput., 186(2007), no. 2, 1551-1558.
[32] S.-S. Zhang, Joseph H.W. Lee, C.K. Chan, Algorithms of common solutions to quasi variational inclusion and fixed point problems, Appl. Math. Mech., Engl. Ed., 29(2008), no. 5, 571-581.

Received: June 13, 2009; Accepted: May 25, 2010.


[^0]:    This work is supported by the Centre of Excellence in Mathematics, under the Commission on Higher Education, Thailand.
    ${ }^{1}$ Corresponding author.

